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General Instructions :

Read the following instructions very carefully and strictly follow them :

()

(1)
(iii)
(iv)
)
(vi)

(vii)

(viii)

This question paper comprises four sections — A, B, C and D. This question
paper carries 40 questions. All questions are compulsory.

Section A : Q. No. I to 20 comprises of 20 questions of one mark each.
Section B : Q. No. 21 to 26 comprises of 6 questions of two marks each.
Section C : Q. No. 27 to 34 comprises of 8 questions of three marks each.
Section D : Q. No. 35 to 40 comprises of 6 questions of four marks each.

There is no overall choice in the question paper. However, an internal choice
has been provided in 2 questions of one mark each, 2 questions of two marks
each, 3 questions of three marks each and 3 questions of four marks each. You
have to attempt only one of the choices in such questions.

In addition to this, separate instructions are given with each section and
question, wherever necessary.

Use of calculators is not permitted.
SECTION - A

Q. Nos. 1 to 10 are multiple choice questions. Select the correct option.

1.

The median and mode respectively of a frequency distribution are 26 and

29. Then its mean is 1

(@) 27.5 (b) 24.5 (c) 284 (d) 25.8

If the distance between the points A(4, p) and B(1, 0) is 5 units, then the

value(s) of p is (are) 1

(a) 4 only (b) —4 only (c) 4 (d) 0

The graph of a polynomial is shown in Fig. 1, then the number of its

zeroes is 1
N o

]

Fig. 1 . /\ / .
f = \[3/

v yl
(a) 3 (b) 1 (c) 2 (d) 4

.430/1/3.7 3 2ANO,
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10.

235 is
(a) an integer (b) arational number
(c) an irrational number (d) anatural number

HCF of 144 and 198 is
(a) 9 (b) 18 (c) 6 (d) 12

The probability that a number selected at random from the numbers
1,2,3, .., 15 is a multiple of 4 is

@ 75 ®) % © 15 (@

| —

225 can be expressed as
(a) 5x32 (b) 5°x3 (€)' ' x3” d) 5°x3

QP is a tangent to a circle with centre O at a point P on the circle. If
A OPQ is isosceles, then ZOQP equals.

(a) 30° (b) 45° (c) 60° (d) 90°

If a and B are the zeroes of the polynomial x?+2x+1, then é+% is
equal to

(a) =2 (b) 2 (c) 0 (d 1

The coordinates of a point A on y-axis, at a distance of 4 units from x-axis
and below it, are
(2) (4,0) (b) (0,4) (c) (-4,0) (d) (0,-4)

In Q. Nos. 11 to 15, fill in the blanks.

11.

If the equations kx—-2y=3 and 3x+y=5 represent two intersecting
lines at unique point, then the value of & is
Or

If quadratic equation 3x%> —4x+k =0 has equal roots, then the value of

‘kis

o
=y

..430/1/3. 5 P.T.O.



12.

13.

14.

15.

af tan (A +B) =399 tan (A—B):L3 ) wafs ASBYLRAW

7

M 8

3 wued Byst % ofea s 25 At qon 15 ft ¥ AR weeht B
H wh g K des 9wt R @ gEd Pyw A ww oy f e
2 .

afe fiig C(k, 4), et A2, 6) 7o B(5, 1) #t fram aret Tamavs &t 2:3 %
I § Siedr &, At kA B

HAYAT

afg fig A (-3, 12), B(7, 6) a1 C(x, 9) T@ &, Al x F 7M1 2 .

Ife cot 6 = %%,?ﬁsinewm%

9 GEAT 16 | 20, = % I i)

16.

17.

18.

19.

20.

Ife Uk Uit A 1 pal UE (7 — 4n) B, A THRT TrASTA T 8 7

5sin®—3cos6
qﬁ = f—ﬁ FITHAHA T a7
Stan6=3%, (4sin6+300s6) 8

2 gl o QA A 9:4 T I B, A IR IRIAT H T ST 2 ?

Ife Tl % Tk I H Tk TR ISTAT TN, A AT 8 A hI AT FIRIRAT
27

a guey st ABC @91 PQR & &%l uT: 25 ST Ol a1 49 o qHt
21 9fg QR = 9.8 &+t & @ BC Ta shifvrg
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12.

13.

14.

15.

If tan(A+B)=\/§ and tan(A—-B)=-\71_§, A > B, then the value of A

is

The perimeters of two similar triangles are 25 cm and 15 cm respectively.
If one side of the first triangle is 9 cm, then the corresponding side of

second triangle is

If the point C(%, 4) divides the line segment joining two points A(2, 6) and
B(5, 1) in ratio 2:3, the value of & is

Or
If points A(-3, 12), B(7, 6) and C(x, 9) are collinear, then the value

of x is

Ifcot§ = 1—52—, then the value of sin 0 is

In Q. Nos. 16 to 20, answer the following.

16.

L

18.

19.

20.

The nth term of an AP is (7 — 4n), then what is its common difference?

f)

If 5 tan 0 = 3, then what is the value of (SSmG —30059)

4sin0 +3cosH

The areas of two circles are in the ratio 9:4, then what is the ratio of their

circumferences?

If a pair of dice is thrown once, then what is the probability of getting a

sum:of 8?

The areas of two similar triangles ABC and PQR are 25 cm? and 49 cm?
respectively. I[f QR = 9.8 cm, find BC.

..430/1/3. T P.T.O.
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9T GEAT 21 | 26 qh TAE 97 & 2 3 ¢

21

22.

23.

24,

25.

26.

fag fifs - 1—Sme=sec(9—tan6

1+sin0
AT

Fm i tan> 0 4 cot’0

" 1+tan?0 1+cot?0
21 faftmer el 1 T @Y IBTAT | §F W I TS HEATHAT H AR 5
T &1 BN wiReRa @ Hif)

reran

forelt argesa fog MU ¥ % qoreR W@ # 5 YeEn & fi WRreRdr W
il
T Ot # 5 o e aen F fieht 12§ iy Ao # | Agesw @ i g
ferrer &t TRk, Tk ore Tie & frerrer it wiRekar @6 @9 T R, a O
7 et e 6 T s A
2 Tt i feamd w19 Fft qun o At €1 3w g@ A B s Hifv
raehi aftfey St gt At affdril & 9 % T 2

=1 =

FEIC 16x% +24x + 15! (4x+3) & W HQ qen wiTHe 9 Ao ferfag|

% O a1l Uk g9 W T o1 g P & Toef [@d PA @ PB 39 YR @il
T$ ¥ 6 3% ofi9 %1 o1 80° 81 LPOA T hifsru

e - T

9T AT 27 | 34 Gk T® T99 & 3 3 g1

21

4 ¥t e 1 U g0 Wil 39 % g & 7 A A gl W e g @
I I Tt [ g AT i

HAAT

6 Ut TS 1 Toh Y@TEve GifHT qen 3@ 3:2 % Furd | fawiia Hifm|
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SECTION - B

Q. Nos. 21 to 26 carry two marks each.

21.

22.

23.

24,

28,

26.

Prove that 1/1_5%11 9 =sec O —tan 0.
1+sin0

Or

2 2
Prove that a8 + cat 9 =

1+tan? 0 1+cot?0

Two different dice are thrown together, find the probability that the sum
of the numbers appeared is less than 5.

Or :
Find the pfobability that 5 Sundays occur in the month of November of a
randomly selected year.

A bag contains 5 red balls and some blue balls. If the probability of
drawing a blue ball at random from the bag is three times that of a red
ball, find the number of blue balls in the bag.

The radii of two circles are 19 c¢m and 9 cm respectively. Find the radius
of a circle which has circumference equal to sum of their circumferences,

Divide the polynomial 16x2 + 24x+15 by (4x+ 3) and write the quotient

and the remainder.

If tangents PA and PB drawn from an external point P to a circle with

centre O are inclined to each other at an angle of 80°, then find /POA .

,‘ SECTION - C

Q. Nos. 27 to 34 carry 3 marks each.

27.

Draw a circle of radius 4 cm. From a point 7 ¢cm away from the centre of
circle. Construct a pair of tangents to the circle,

Or
Draw a line segment of 6 cm and divide it in the ratio 3:2.

mi
G
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28. fug I f: (1 +tan A —sec A) x (1 +tan A +sec A) =2 tan A

HAAT

firg i 5 cosecO % cosec —95ec20

cosecO—1 cosecO+1

29. T & 6 3 TF i gE B, quisy fR(5+243) T smfE w@n Rl 3
arera

freft Re § 612 Tewl Il TH A N THS I 48 TEEAT AA TH A b
3 o HET 81 GFl GG H GHF G 9T TR A AT HET1 §| 3
et Y Tt T, forad @8 AT o GeRd 8§, TR Y

et oY ufee qan ora ® T gt & S fifm| - 24

30. aU% TEA H Qa-Fe fRaan s
W ¥ 0, ws AR fig@ ABCD #, I
¥ e 1 m ¥ gl W ufEat o g AD
¥ ey W 1 m gt W 100 ™A W
T €, Ser 5 emEfa 2 # awlr MR
ﬁgﬁma@ﬁﬁﬁﬁﬁAD%%m%w
61 gt drscht @ i T T = FEr TS At 7 R
i st e § AD % ¢ & R A S 2
i dredt 3 R T7T TF At w1 M ol R 3
(i) 3 get % ofta Y gl T R?
Gi) afy TH F T A wE | GHl wel F AR A e W A
: mqﬁm(ﬁaﬁ)méﬁaﬁmé@ﬁ?mmﬁq?

p—
=

N W A N 0O

> (KK

31. TORE T & BN 2x+3y=2, x—2y=8 3
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28.

29,

Read the following passage carefully and then »p C.
answer the questions given at the end.

30.

31.

F
i

Provethat(l+tanA—secA)><(1 ttan A+sec A)=2tan A ‘ 3
Or

cosecH cosecO
Prove that + =2sec? 0
cosecO-1 cosecO+1

Given that +/3 is an irrational number, show that 5+ 2«/3-) is an irrational

number. 3
Or

An army contingent of 612 members is to march behind an army band of
48 members in a parade. The two groups are to march in the same number
of columns. What is the maximum number of columns in which they can
march?

To conduct Sports Day activities, in your
rectangular shaped school ground ABCD,
lines have been drawn with chalk powder at
a distance of 1 m each. 100 flower pots have
been placed at a distance of I m from each
other along AD, as shown in Fig. 2.

=

N
=N WA B g e =

Niharika runs %th the distance AD on the

2nd line and posts a green flag. Preet runs A
1
5

&AL TN 10
th the distance AD on the eighth line and Fig. 2

. posts a red flag. 3

() Wihat is the distance between the two flags?

(i) If Rashmi has to post a blue flag exactly half way between the line
segment joining the two flags, where should she post the blue flag?

Solve graphically : 2x +3 y=2, x-2y=8 3

4307173, 1 | P.T.O.




3Z.

33.

34.

fgema sgug 6x2 —3—7x % YAH T HING TAT Y1 a1 OThI o sftel
% Ty hil TeIar H A= Hieg|

20 Y, 34 " qUT 42 W YN AT TH FAYSAHR we & fH Bl F TAF
i w7 ot ot @ gR A e S § | 3 e % 39 &9 S &9hd [
Hifre N =S g = S Fohl

firg Y 5 99 F T oo & Bl W = 78 ot el i 2 g

wWE -9

U9 TEAT 35 W 40 TF AT U9 & 4 3HF 2

35.

36.

A

T I A1 % Y UG T IR TAT 38k 189 UG % 18 TAT o HAM @l 39
Il 1 2247 Ug FId hif)
aroran

T A 24, 21, 18, ... % forae g forw Smd arfer 3ht AT 78 B 7

T HHR % Ue-foig § T oA % RrE w9 Hi7 30° 8, IR el %
qre-foig ¥ AR % Rrex &1 s A0 60° 21 AR HER 60 H S A Al
o sl Hars Fd HifS :

T Gl Tedl, T b fomeh & R it @ ekt F=E 21 ot qun FeEet

o ot gefa ol it Brsend shaer: 10 et qom 20 & ) T 40 wh e
& T &, I Y F Yed F1d A I e 1 U W Eh|

- Jrora
TF 3E T e W ARG T WF AR w1 gl qHl i B
3.5 Oft € a1 3@ I FoA FuE 9.5 WM B| 3W I H1 A [ HICY
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32,

33

34.

Find the zeroes of the quadratic polynomia] 62 =3=7x-and verify the

relationship between the zeroes and the coefficients.

Three horses are tied each with 7 m long rope at three corners of a
triangular field having sides 20 m, 34 m and 42 m, Find the area of the
plot which can be grazed by the horses,

Prove that the tangents drawn at the end points of a diameter of a circle

are parallel.

SECTION - D

Q. Nos. 35 to 40 carry 4 marks each.

3s,

36.

37,

If 4 times the 4th term of an AP is equal to 18 times the 18th term, then
find the 22nd term,
Or

How many terms of the AP - 24,21, 18, ... must be taken so that their sum
is 782

An open metal bucket s in the shape of a frustum of cone of height 21 ¢m
with radii of its lower and upper ends are 10 ¢m and 20 cm respectively.
Find the cost of milk which can completely fill the bucket at the rate of
< 40 per litre.

EAE

-

[

5

1
L]
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38. fe srieRel 1 HIew W@ IR
EUE 0-20 | 20-40 | 40-60 | 60-80 | 80-100 | 100-120

IR | 20 35 52 44 38 31

39. m@’%3ﬁ,DEFG@aﬁ%Gﬁ@waﬁwﬁga%mﬁaw%,mﬁ
/A aue 2| fag fifse s

(i) AAGF~ADBG
(i) A AGF~AEFC

ey
e

B™Dp E C

Frorat
w aifres HIv By ABC R (B @frsh 107 2), AD 1S 7§ %o CB
W o & @ firg AT i AC? = AB? +BC? +2BCxBD '

40. T SARE % UH TH QW (IEM) F GO @ » ¢ T 4200 B ARG T S

70 3 fot w1 3 A 3@ o WffeA 1 S X 70 HH I TSl 81 I6h T
! g1 rafy s Hifgl
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38. Find the mean of the following data - 4
| Classes | 020 | 2040 [ 200 | 60-80 | 80-100 | 100-120
lirequency J 20 35 52 l 44 I 38 I 31

39. In Fig. 3, DEFG is a square in a triangle ABC right angled at A Prove
that 4

(i) AAGF-ADBG
(i) A AGF~A EFC

Fig. 3

Or
In an obtuse A ABC (£B is obtuse), AD is perpendicular to CB produced.

Then prove that AC2 = AB2 4 (2 +2BCxBD.

40. A person on tour has ¥ 4200 for his expenses. If he extends his tour for 3
days, he has to cut down his daily expenses by ¥ 70. Find the original

duration of the tour. 4
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